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In which one of the foll
first Maritime Indi

from 14 10 16 Apri

owing places
3 Summit was held
l, 2016 7

(B) Visakhapatnam
(€) Mumbai

(D) None of these

. true
PPINg seasons in India?
(A) The Kharif Season spread

June till September.
(B) The Rabj season s

October till March.
(C) The Wheat crop is cultivated in

. Northern India during the Kharif
season,

s from

preads from

(D) The Zaid season spreads from

April till June.

Madhubani painting is famous in
which of the following state?
(A) Uttar Pradesh (B) Kerala

(C) Bihar (D) Rajasthan

During the freedom struggle, Aruna
Asaf Ali was a major woman
organizer of underground activity in
(A) Non-Cooperation Movement
(B) Civil Disobedience Movement

(C) Quit India Movement
(D) Swadeshi Movement

If a Panchayat is dissolved, elections
are to be held within

(A) 1month
(C) 6 months

(B) 3 months
(D) 1vyear

28,25,5,21,18,5,14, _,___

Complete the series.
(A) 11,5 (8) 10,7
(C) 11,8 (D) 5,10
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CMM, E0O, GQaq,

| , KUU.
Fillin the blanks.

(A) GRR (B) Gss
(C) 1ss (D) ITT

Which word does not belong with
the others ?

(A) Branch
(C) Leaf

(B) Dirt
(D) Root

Sponge is to porous as rubber is to
(A) Massive (8) Solid
(C) Elastic (D) Inflexible

Five children are sitting in a row. S is
sitting next to P but not T. K is sitting
next to R who is sitting on the
extreme left and T is not sitting next
to K. Who are sitting adjacentto S ?
(A) KandP (B) RandP

(C) OnlyP (D) Pand T

If selling price is doubled, the profit
triples. Find the profit percent.
(A) 300% (B) 100%
(C) 316% (D) 120%

In a cricket team eleven, the average
age of eleven players is 28 years. Out
of these, the average ages of three
groups of three players each are
25 years, 28 years and 30 years. The
captain and the youngest player who
is 11 years younger than the captain
are not included in these groups. The
age of the captain is
(A) 33 years

(C) 35 years

(B) 34 years
(D) 36 years
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15. A cistern can be filled by a tap in

?thurs while it emptied by another
ap in 9 hpurs. If both the taps are
opened simultaneously, then after

how much time ¢j i i
e cistern will get filled ?
(A) 7 hours .

(B) 7.3 hours
(C) 7.2 hours
(D) None of these

16. Which amongst the following is
largest endocrine gland in the
body ?

(A) Thyroid
(C) Adrenal

(B) Parathyroid
(D) Pituitary

17. Now-a-days vyellow lamps are
frequently used ‘as street lights.
Which of the following gases is used
in these lamps ?
(A) Sodium
(C) Hydrogen

(B) Neon
(D) Nitrogen

18. A Group Wareisa
(A) Hardware
(C) Software

19. The noble gas used for the
treatment of cancer is

(A) Helium (B) Argon
(C) Krypton (D) Radon

20. PVCisused for the manufacture of
(A) Cosmetics
(B) Nonstick pans

(C) Tyres
(D) Plastic pipes

(B) Network
(D) Firmware

13,

14.

15.

16.

17.

18!

19,

- 20,

= _ et (oafqo
368 g 1) 8 G o (e |

30 e -,
' 1€
28 o -,
(C) 7% .
_ "
syt frantert! EEJ
4t (8) 4
Eg 3 (D) 2

e AR 4 92 5 W3 3
er_:ia f:;;f“,, jm arell A G
et aven g, o feral TG @ TvEmy
'{tjlf\i.f. W7 ;:TITJ,“H ?

(A) 7H<

(8) 7.3¢¢<

(€) 7.2 .

(D) i 9 @i T ,
wifie A v a4 sl G B E g
wF e ‘

(A) HAE (ATETTS)

(B) URIag (WIATEIIEE)

(C) firgaa (uiTe)

(D) Wyy (zygedy

HISihel Wed! WA & &w o, 63
el oyt fsen sien & 1R 3 ) g
13 %1 v g el R e & 2

i N (B) Fisifa

€ wRg (D) swwce

9 A3 & &
(A) @daaw

(C) Fwedar B e

(D) widar
TR 3 IYAR 3 Ry g e
A) v ﬁ“gﬁ&fg“-”m‘
¥, e 0) Ve

PVC 135 Bt 4 gy 5
(A) BRI mm m"-m R1G1IEX

(B) . Rareg; TS
(C) SRy

Downloaded from wwyv.cclchgoﬂtel—?‘.@mf‘ﬁ I3y



21,

22.

23.

24,

25.

26.

37
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(A) ‘,\uni}ml

(8) Sohng
(C) Sitsa
(D) Safidon

aryana was

AU which place
Shoes are m

(A) Ambala
(B) Panipat
(C) Dharuhera
(D) Karnal

(in Haryana) Liberty
anufactured ?

Which city of Haryana is well-known
as city of weavers ?

(A) Faridabad
(B) Panipat
(C) Karnal
(D) Sonipat

How many members are nominated
in Rajya Sabha from Haryana ?

(A) 2 (B) 4
(€) 5 (D) 7

In the memory of Chyavan Rishi, on
which hills a fair is held ?

(A) Morni hills
(B) Dhaosi hills
(C) Satnalihills
(D) Dadari hills

Which king of Ballabhgarh was

martyred in independence war of
1857 7

(A) Pratap Singh
(B) Vijay Singh
(C) Nahar Singh
(D) Mahavir Singh

Downloaded from www

21.

22.

23,

24,

25.

26.

g

e, efbaro i fdn AT AT o
a7

() A

(B) et

(c) 1

D) e

efraon i forad opt il A 82
(A) At
(B) wr-iiva
(C) wrzis
(D) T

R T 2 IR AR I D
A A uflE e

(A) uRTETAT

(B) Wi

(C) @

(D) whua

elmn A woy wm A o ggw
HEICIRE A )
(A) 2
(€) 5

(B) 4

D) 7

araE wN @) Wi e B e w
EUGIE

(A) e e

(B) @)l vy

(C) wa-eh &) gard

(D) @red o i

1857 & e v N geerere & R
ST A afdarE R g

(A) weufde

(B) fwiafye

(€) R

(D) =R e

.cclchapter.com



Recently the Pashudhan Bima Yojana

was |
e auncheg by which Minister of
ryana Government ¢

(A) Vipul Goyal
(B) Manish Groyer
(€)' O.P. Dhankar
(D) Banwari Lal

Who is th
€ current M i
DirectOr Of HS"DC ? anEIGIng

(A) Sudhir Rajpal

(B) BimalRoy

(C) Sudhansy Chatterji
(D) None of these

In Haryana, King Janmejay s
associated with the town

(A) Jind (B) Jhajjar
(C) Jagadhari (D) Safidon

In Haryana Government who holds
the ministry of Women and Child
Development, Information, Public
Relations and Cultural Affairs ?

(A) Vipul Goyal
(B) Manish Grover
(C) Kavita Jain
(D) None of these

31. How many administrative divisions

are there in Haryana ?
(A) 6 (B) 7
(C) 4 D) 5 .

Who was the first State Poet of the
Haryana ?

(A) Liladhar

(BI) Udaybhan Hans

(C) Balmukund Gupt

(D) Tulsidas Sharma
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Bound;"\. of

which  district  of
Hary

aha do not touch any other
State of India 7

(A) Rohtak
(B) Rewari
(C) Bhiwani

(0) Yamunanagar

Who is known as ‘lron Man' of
Haryana ?

(A) Sardar Valiabh Bhai Patel
(B) DeviLal

(C) Bansi Lal

(D) None of these

Which district is formed at last ?
(A) Mewat

(B) Palwal

(C) Panchkula

(D) Kaithal

Birla Temple of Kurukshetra located
nearby which Sarovar ?

(A) Jyotisar

(B) Brahma Sarovar
(C) Ban Ganga

(D) Narkatari

Which of the following Is not 3
. division in Haryana ?

(A) Hisar
(8) Rohtak
(C} Gurgaon
(D) Karnal

Who considered Guru Jambeshwar is
Incarnation of Lard Shri Vishnu ? '

(A) Gujjar

(B) Ror

(C) Bishnol ,

(B) ‘None of these '
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What is the full-form of KMP ?

(A) Kurukshetra-Manesar-Panipat

(B) Kurukshetra-Mahendragarh-
Panipat

(C) Kundli-Manesar-Palwal

(D) Kundli-Manesar-Pataudi

Rio Olympics bronze medalist Shakshi
Malik born on

(A) 3 September, 1992

(B) 4 August, 1990

(C) S March, 1992

(D) 6 December, 1991

Who guided Chandragupta Maurya to
become the ruler of Magadh ?

(A) Kautilya (B) Dhanananda
(C) Banabhatt (D) Porus

Which book did Greek ambassador
Megasthenes write ?

(A) The Republic

(B) In Light of India

(C) Indica

(D) The Wonder that was India

Which river orginates in the
Mansarovar region ?

(A) The Yamuna

(B) The Ganga

(C) The Brahmaputra.

(D) The Narmada

For which of the following mineral are
Singhbhum and Hazaribagh of Bihar
famous ?

(A) Copper
(C) Bauxite

(B) Coal
(D) Gold

Which was the first Indian state
formed on the linguistic basis ?

(A) Gujarat '
(B) Maharashtra

(C) Andhra Pradesh

(D) Punjab
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What s the
far a person 1o becom:
Minister of India ?
(A) 21 years
(C) 30 yeare

Minimym AC require

' the Prime

(B) 25 yoars
(D) 3% years
Which Five-Year Pl
Removal of Pover
objective ?
(A) Second
(C) Fourth

an had adopted

ty' s it foremost

(B) Third
(D) Sixth
During whase rule was the rupee
coin first minted in India ?

(A) Shahjahan

(B) Akbar

(C) Sher Shah Suri

(D) Alauddin Khilji

Name the Indian state which has
given most Nobel prize winners.
(A) Tamil Nadu (B) West Bengal
(C) Karnataka (D) Punjab

Where is the seat of the Madhya
Pradesh High Court located ?

(A) Indore (B) Bhopal

(C) Gwalior (D) labalpur

Name the first Indian to win the
Oscar Award.

(A} Bhanu Athaiya

(8) Rohini Hattangadi

(C} Seemaz Biswas

(D) Shekhar Kapoor

Who was the fiest Indian Managing
Director of the World Bank ?

(A) Azim Prem)i

(8) Gautam Kaji

(C) Narayan Murthi

(D) Manmohan Singh

in which year were the first general
elections held In India ?

(A) 1951-52

(8] 1953.54

(C) 194250

{D} None of these

16,

4a7.

48.

49,

50.

5.

S2.

53.

st ant osrer il e & By Byenan
grag el 2

(B) z5 av

(D) a5 i

(A) 214
() so

faen qaadia grovn & &) gorr $UE
Muadt deu F e 8 sfiwre fEan am
1)

(A) urdl (8) Mrad

(C) #eh (D) ud

fwae 2= T 2 amd o Fraa oned
B gy AT ITE AT 7

(A) Ve

(B) wav

(C) Fvwg &

(0) Wt e

Y Ny I B OAE GaET s
aatfre e gren e v g

(A) iRy (B) uivsmama
(C) w=itew (D) w=ra

HE U IET TUMATAS I MW BE] U
aafier {7

(A) R (B) ur=

(C) smierus (D) WA

T ue ety @1 S agy | S
wars e gen

(A) =11 v

(B) ievil gz

(C) =iy Py

(D) am oy

femr 4w @ weay wdin win Pdws
I A9

(A) a1l o)

(B) s wnof)

(C) Trergepyfy

(D) remvien e

HIRE A gy 2 g P et gy
(A) 1951-52

(B) 1953.54

(C) 1949.50

(D) &+ 3 and sl

Downloaded from www.cclchapter.com




54.

55.

S6.

57.

58,

59.

61.

62.

When

\\'("\ h‘. ' "
e hatma Gandhy
(A) January 30, 1948
(&) Fanuary 20, 1949
() Novemb, 10, 1949
(0 Octobyey 2. 1940 |
N which yea

W wa g |
Nations tormed » " hieg
(\) 1920
: ! (B) 19
(€) 1945 (0) Iéi?

In  which

year dig
Revolution 13ke Place ? the. French
(A) 1773
(B) 1
(C) 1789 m)] 1;23

What are the ima
Binary lines par
(A) Latitudes

(B) Long
(C) 1sobars Cefties

(D) 1sotherms
Kangaroo is the National emblem of
which country ?
(A) Canada

(B) Ital
(C) Ireland i

(D) Australia

In which year did India become a
member of the UN ?

(A) 1945
(C) 1950

(B) 1947
(D) 1951

Who founded the Red Cross ?
(A) Florence Nightingale

(B) Henry Dunant

(C) Helen Keller

(D} Mother Teresa

Through which organ does a fish respire ?
{A) Nose (B) Lungs
(C) Gills (D) Fins

Which lenses are used by people
having short-sightedness ?

(A) Convex

(B) Concave

(C) Concavo-convex

(D) Plain

10

ha,

56.

57.

58,

59.

60.

61.

620

e ot 7
svereon i) o) e VA BR

(A)
(&)
(€)

((), -"I!,';"‘-' ;-" 1('-“{1

,,:.f‘[.'] 30, 1048
|'.1.jj] 20), 1049

Wilq 20, 1040

» - un .J‘ o
alagact <1 foyufon Sy M i %

(A) 1920 (B) 1639
(C) 1046 () 1952
e ak 1 vt aifr 58 402
(A) 1773 () 178%
(C) 1789 (D) 1784

- vy

SRR T @ I wrfa® Tas
Frerd €7

(A) @&y YT
(C) wwem IEr
Hrs faa v &1 Ity weitE 8 2
(A) T=mE (B) z=TH

(C) snureve (D) r=fam

(B) =¥ITET TEna
(D) ¥eTE 3w

ferar ad s vigam g @ o w o
SR 4417
(A) 1945
(C) 1950

(B) 1947
(D) 1831

V8- @ w1 T R fam o
(A) wadlvs sgfiag
(B) ® gyt
(C) 2™ e
(D) R ¥
fat 2 & winam @ wwadt Wi R
(A) Nl (B) qugy
(C) wrerge (D) Ry
Maieehe Qu ¥ fg @ R dw an
§ar @ 9
(A)
(8) %
(C) Maa@ue
(D) wierat
37

L Downloaded from www.cclchapter.com



63.

6S.

67.

70,

Who was the tirst Indi
Century in test cricket 2
(A} Lala Amarmath

(B} Vijay Hazare

(C) Vijay Merchamt
(0) C K Nayudu

an o score a

Who started the ancient Olympic
Games ?

(A) the Romans (B) the Greeks
(C) the Egyptians (D) the Turks

Of which country is Baku the capital ?
(A) Ukraine (B) Kazakhstan
(C) Azerbaijan (D) None of these

The Kargil Vijay Diwas is observed
every year on
(A} 23 July
(C) 25 July

(B) 24 july
(D) 26 July

India’s first underground museum will
be opened in which of the following
cities ? .

(A) Jaipur (B) New Delhi
(C) Ahmedabad (D) Patna

PM Narendra Modi released a theme
song for Tiranga Yatra to be organised
from 16™ to 23" August. to mark 70
years of Independence Day. The
theme song “70 Saal Azadi Yaad Karo
Kurbani” has been composed by

(A) Gulzar

(8) Javed Akhtar -

{C} Bhimrao Panchal

(C) Ghazal Srinivas

Pema FKhandu sworn in as Chief
Minister of Arunachal Pradesh on

(A) 17" July, 2016

(8) 10" August, 2016

(€) 17" June, 2016

(D) None of these

In which cauntry Rig Olympic Games.
2016 were held ?

(A) India

8) )
() Brani %1 lspmn

(D) naly

"
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If the first and
.sequvncu 59§
INterchange

second digity in the
l 1327438 are
digits e 450 the third and fourth
0“?. :h'ii"lLl r[;if”; and sixth digits and 50
3 Hl \"l'(.‘llllil ‘. AL

(C‘;))unlln!’. Lo your fofy ? ‘e the seventh
(€) 7 (B) 4

(D) 8

?\1'1‘:”1%: N3 row in front of a camera,
sitt} “ 1S on the left of the person
i Ing In the center but is on the
h“ﬁ“zoi Moy, Mr. Pis on the right of
i : arnid Mr.. R is on the right of
fro;n t.h )v r. Ris thg sec0r:ri person

€ person sitting in the center.

Who is the e el ;
center 7 person sitling in the
(A) Mr. X (8) Mr.Y
(C) Mr. 2z (D) Mr. R

Choose the correct alternative.
Poodle : Dog : : Moose : ?

(A) Duck (8) Donkey
(C) Fowl (D) Deer

In the following four words, three are
alike in some manner and the fourth
one is different. Choose out the odd
one.

(A) Akbar

(B) Jahangir

(C) Shah Jahan

(D) Vikramaditya

Choose the missing term out of the
given alternatives.
Cax, F9U, I16R, ?
(A) K25P

(C) L250

kman has 20 litres of milk. He
s of water, which is
in 20 litres of pure
{ pure milk is ¥ 18
fit of the

(B) L25P
(D) L27P

A mil
mixes 5 litre
freely availahble,

milk. If the cost O
itre, then the pro
pt?l;kr:an when he sells all the
- : ice, s ’

ixture at cost pr!
m (8) 25%

(A) 20% |
() 33.33% (D) 18%
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72,

73,

74.

75.

76.
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frifar e M iy el 12 '
i J

T 177} il -‘-"I”.
e e \

l,“.'

111 rl “ .
aul e, e oy e Hrdl
L e : ‘l"‘"
o \h'M'I --'I-"JI n Hlug|

Bl gl {

v bl

Wehi '!l'l' (ril ‘:1
({{‘J) 7 (D) &

x 6y oI
ey, Y & A T e o, PLA fidi '
poanfaa A ardt e uee] 1 Y @l
s : ; o g
el s A5 P, 191 [ f
Sl Miy e 10 ' ' )

: j e P R AR
aunr fy, ROPY PR et w2 90 = | '
I k]

3 ; y Ju5T4 WY
1171 It B I afam U gy 1k

o catany qed B 4G g? :
(A) X (8) MY
(c) .z (o) PR

i) (e @t qge BT,

yaw gl s ?
(A) @
() sl

Prsfafeae arw wa) & ot feeit W 3
| 39 fam

(B) T
(D) fesm

CHITART £ g dan T E
e i JUe @iend |
(A) arfa

(C) wrmeargi

(B) SrEri
(D) fameniowy

@i

C4X, FU, 116R, ?

(A) K25P (B) L25P
(€) L1250 (D) L27P

Wil g6 AT @ v 20 e gu § )
e W1 20 fareR g qu N s e g
remar &, i e 3 qusar & | gfe &
i;_'-l B A g ufy fares 2. @ {;x;{u]
(s I.m TE AR athie QY A, im;m
e ke g
(A) 20%

(C) 33,33%

(B) 25%
(D) 18%
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78.

75.

80.

81.

82.

83.

85.
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One of the two buses completes a
fourney of 300 km in 15/2 hrs, and
the other a journey of 450 km in 10
hrs. Find the ratio of their averape
speeds,

(A) 4:5
(€) §:9

(B) 9:8
(D) 5:4

The HCF of two numbers Is 23 and
other two factors of their LCM are 13

and 14, The larger of the two
numbers is

(A) 276 (8) 299

(C) 322 (D) 345

Three times the first of the three
consecutive odd integers is 3 more

than twice the third. The third
integer is

(A) 9 (B) 11

(C) 13 (D) 15

Sum of a rational number and its
reciprocal is 13/6. Find the number.
(A) 2 (B) 3/2
(C) 4/2 (D) S/2

Alfred Nobel is associated with the
invention of
(A) Cosmic rays
(C) Dynamo

(8) Dynamite
(D) Penicillin

Banking of curves on roads or railway
tracks is done to provide

(A) Centripetal force

(8) Centrifugal force

(C) Centrifugal acceleration

(D) Angular velocity

Diamond is the
carbon.

(A) Crystalline (8) Amorphous
(C) Chemical (D) Alkaline

Which of the following gases do

plants and trees give out during
Photosynthesis ?

(A) Hydrogen

(B) Nitrogen

(C) Oxygen

(D) both (A) and (B)

Food is normally digested in the
(A) Liver

(8) Stomach
(C) Smallintestines
(D) Large intestines

form of
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77.

78.

79.

80.

81.

82.

83.

84.

85.

Al NN v wn Ay (n dy arn
16/2 V00 UN vy oo 48 450
frll @) @i o e a gl B el
CINARI R RREN Ao iy

(A) A4:5 (B) 9:8

(C) 8:9 D) 5:4

a1 HEABA @1 8 W 92 B ol 3w
G b AU ST AT 1 i 14 B FE
gl wanaf W &) o '

(A) 276 (B) 299
(C) 322 (D) 245

i s fen goite wwanat § R
geelt @ Ao, @ & o o A
3 3ifivas &, ot drad gt e g

(A) 9 (8) 11

(C) 13 (D) 15

U GRAT e aen S aaEs w1 4
13/6 ¥ | a ¥y 2

(A) 2 (B) 3/2

(C) af2 (D) 5/2

Wb Alde w1 YAy Feud spfasr 38 2
(A) @i fan (B) sz
(C) =1g=ns (0) ufafufee

REIR NG U NI SR o o IR o0 C R
HeT v @ fee fgur s &2

(A) sifdmrsdiaa (B) anddlad
(C) amd&=dtawm (D) i im

ERE BT FOn W
(A) frveeta (B) ufwwedu
(C) . Ty (D) sl

wepTE- v @ R @ SR A aRn
g @l A g g s €7
(A) BIEgIol

(B) “hrgeiard

(C) afianiia

(D) (A) st (B) @1

ANSFE W E §

(A) ferav 3

(B) spnva i

(C) a3 R

(D) @ 3=
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ENGLISH LANGYAGE

Flnd ”'IQ o
(A)
(B)
(C)
(D)

rrectly spe
OCtogenerarian
Centenarian
Propreitor
aMatyer

It word -

Fill in the bl
Prepositions .
Suddenly she turneg away

€ window and
S
glass. ho.

(A) from; to
(C) off; near

anks with appropriate

—~—the

(B) from: before
(D) with; to

Choose the word th

:the rr::anifng of the underlined word -
15 the first time the painting ha
been Q|sgla1ed to the public. P
(A) gwe'n (B) distributed
(C) exhibited (D) refused

at best expresses

Select the substitution that best
expresses opposite meaning of the
underl@ned word :

A conceited person is seldom liked.
(A) poor (B) lonely
(C) humble (D) scholarly

Choose an alternative which can replace
the given words or sentence so as to
communicate the same meaning.

A place where neither grass nor
trees grow.
(A) fertile
(C) barren

=t

o qfera = fvan on w6t % oy
v g &7

(B) rough
(D) hard,

(A) wifora (B) 3MRTORU

(C) AT (D) AWHF

oy & ST WA B |

(a) #fen i (B) gﬁ*—f—mﬁ

() ajuafemd (D) ¥ & g 1
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vl E Ry |
(B) fd’ij:'l‘?l

s T b

3. <
" {A, afddIY {D) 8
(c)
S aui &7
et AT SR =
94, t'”mﬁ;,—:ﬁ‘:iﬂ (8) {l_f::ﬂ- .
‘21) st i
) «
v g 3 W AR ?
g5, ot T B) &%
(A) f& e agafe
) waom (0} SR
96, ke @ e - € 4 U
. (A) pin a lB’ NG + _.-
 waeaw (D) TEHEE
o, ~reafeaar @@ A AN S 7
(a) W
(8) ¥
{C) e
(D)
08, Pyifiifa wra-wE ¥ fo Sugas oz
1 au BT
i) 2l e 81 98
(A) st (B) @gs
(C) arend (D) was
99. fv=ifafan wra-dfdwal & wam Q aiy
3 4w 3 e & I e
1. AR T @l g ) A @
Haga i
2. TETH & g v wiell- e
f[?:;iﬁ‘-rfi‘sra R eF-meygwad?
1. 9UHI, 2. WUF AR
:g; :-S’Iiﬂm. 2. WUF SABR
TN, 2. I9 ArdHR
(D) 1. Y0, 2, I 31w
100. - ;
gnﬂq%rzzqﬁﬁ W ¥ T TE T
(A) =
(C) @y 3
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